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STAR PUBLIC SCHOOL
Dear Parents,
Today's assignment ( class 3rd)

.~ Hindi grammar- chapter -1 back

excercise + question answer in
 notebook

- Maths - maths worksheet

-

- Zumba dance

—

Home Assignment -

.~ Maths - maths worksheet (page
number - 2) Edited 2:49 PM v/
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A, Choose the correct answer,
L. The number cg
i s responding 1o 8 Th + IH+3T+50is

1 i ey o

2. The place value of6 in 5643 is oy 4 (d) 8153
" EM (b) 60 =

['s]
3. 1089 is greater than _ \y _
(al 2000 (b) 1005 (@ 1212 (d) 1908
4. The Successorof 2530
(a) 2548 (b} 254
4 (€} 2540 L
5. Find the odd one out. TN i S
B. Fillin the blanks, " -
s
). The place valve of 2in 1482 s ?..
2. The successor of 6989 j5 9.5
3. 5432 1"'_-_“|_'.__T1__:,‘_U‘
The number name of ]501::.-_-._"‘__.; Fau I_ '__‘f £ 2 01 f‘l __L 1'.|_”' E A ‘,...JI: " ;,4
5 = 2000 + BOO + 00 + B (Write in standard form) ' 4 s
C. Write True or False,
: . .
1. The smallest 4-digit number formed using the digits 3,0, 5,9 is 3059, -
2. 8300 is an odd number 200 C y
3. The Roman numeral for 29 is XX, 8 O Q ) d
4, The successor of 3801 is 3802 C:l -
5. Cis a symbol of the Reman numeral that cannot be repeated. — - = = \[‘
L Yy Yo {
D. Match the following, ,2_.#';:'! U o ?

Column A Column B
1. 33 (a) 332 -
2. 3535 (b) 3029

3 s (c) 3000+ 500+30+5

4. 3000+ 20+ 9 (d) XX

352






